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fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. Leaned fencing post, trees and

communication poles indicate a

type of mass-wasting process

namely .................................. .

(A) Solifluction

(B) Soil creep

(C) Mud flow

(D) Soil slump

2. Which is the oldest mountain system

in the world ?

(A) Urals

(B) Aravallis

(C) Andes

(D) Alps

3. Who first propounded the theory of

isostasy ?

(A) Pratt

(B) Dutton

(C) Airy

(D) Holmes

1. okdysys da qi.kkp s [kk ac] >kMs vkf.k
laidZlk/kukaps LraHk foLr`r >ht izÿh;spk
----------------------- gk izdkj lqpforkr-

(A) e`nkizogu

(B) èn~?klj

(C) e`frdkizokg

(D) e`nk cld.k

2. txkrhy lokZr tquh ioZr ‹ka`[kyk dks.krh \

(A) vjy

(B) vjoyh

(C) v°Mht

(D) vkYIl

3. Hkwlarwyu flºkar izFke dks.kh ekaMyk \

(A) izWV

(B) MVu

(C) ,vjh

(D) gksEl

Geography
Paper III

Hkwxksy
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each

question carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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4. Match the following :

List I

(a) Sandstone

(b) Shale

(c) Limestone

(d) Granite

List II

(1) Slate

(2) Marble

(3) Gneiss

(4) Quartzite

Select the correct answer from the

codes given below :

Codes :

(a) (b) (c) (d)

(A) (1) (3) (2) (4)

(B) (4) (3) (2) (1)

(C) (4) (1) (2) (3)

(D) (3) (2) (1) (4)

5. The breaking wave is called as :

(A) Swash

(B) Backwash

(C) Surf

(D) Refractive

6. Which one of the following volcanic

mountains is known as ‘Light house

of the Mediterranean Sea’ ?

(A) Stromboli

(B) Krakatoa

(C) Vesuvius

(D) Etana

4. tksMÓk tq̌ ok %

;knh I

(a) okˇqdk'e

(b) lqHkkt

(c) pwu[kMd

(d) d.kk'e

;knh II

(1) ikVhpk nxM

(2) laxejoj

(3) uhl

(4) DokVZ>kbV

fnysY;k ladsrkadke/kwu ;ksX; mŸkj 'kks/kk %

ladsrkad %

(a) (b) (c) (d)

(A) (1) (3) (2) (4)

(B) (4) (3) (2) (1)

(C) (4) (1) (2) (3)

(D) (3) (2) (1) (4)

5. QqV.kkÚ;k ykVsl Eg.krkr %

(A) iqjksxkeh ykVk

(B) izfrxkeh ykVk

(C) Qsfuy ykVk

(D) ijhofrZr ykVk

6. iq<hyiSdh dks.kR;k Tokykeq[kh; iokZrkl
Hkwe/;lkxjkpk nhiLraHk EgVys tkrs \

(A) LV™ksacksyh

(B) ÿkdkVksvk

(C) OgslqfOg;l

(D) ,Vuk
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7. Match the following :

List I

(a) Natural Levee

(b) Drumlin

(c) Polje

(d) Seif

List II

(1) Wind

(2) Glacier

(3) Running water

(4) Underground water

Find out the correct answer from the

codes given below :

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (3) (4) (1)

(C) (3) (2) (4) (1)

(D) (1) (4) (2) (3)

8. The term ‘Suture’ indicates a stitch

line between :

(A) Two plates

(B) Two mountains

(C) Two archepelagos

(D) Two rock formations

7. tksMÓk tq̌ ok %

;knh I

(a) iwjrV

(b) fgeks<fxjh

(c) egkdqaM

(d) lkbZQ~

;knh II

(1) okjk

(2) fgeunh

(3) okgrs ik.kh

(4) Hkwty

iq<s fnysY;k ladsrkao:u ;ksX; mŸkj 'kks/kk %

ladsrkad %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (3) (4) (1)

(C) (3) (2) (4) (1)

(D) (1) (4) (2) (3)

8. ^^lwpj** gh laKk --------------------------- e/khy
f'ko.k js"kk vkgs-

(A) nksu Hkwrcds

(B) nksu ioZr

(C) nksu }hilewg

(D) nksu [kMd jpuk
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9. Which one of the following is a

source of atmospheric energy ?

(A) Infrared radiation emitted

downwards from clouds

(B) Visible radiation scattered

upward

(C) Latent heat released

(D) Albedo of the earth and

atmosphere

10. Assertion (A) : When the air is

very humid heat

loss by evaporation

is reduced.

Reason (R) : A hot and dry day

is warmer and

more uncomfortable

than a hot and

humid day.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

9. [kkyhyiSdh dks.krk okrkoj.kh; mtsZpk Úksr

vkgs \

(A) <xkadMwu [kkyP;k cktwl gks.kkjs vojDr

izkj.k

(B) m/oZfn'ksyk ikaxysys n`'k izkj.k

(C) lqVysyh vizxV mtkZ

(D) i `Foh o okrkoj.kkph ijkor Zu

xq.kksŸkj

10. fo/kku (A) : tsaOgk gok tkLr neV vlrs

rsaOgk ok"ihHkoukeq š gks.kkjk

m".krk Úgkl deh gksrks-

dkj.k (R) : xje o 'kq"d fnol gk xje

o vkÊZ fnolkis{kka tkLr

m".k o vlq[knk;d vlrks-

[kkyhyiSdh dks.krk fodYi ;ksX; vkgs \

(A) (A) o (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k

vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k

ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj

vkgs
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11. Match the List I with List II and
select the correct answer from the
codes given below :

List I

(a) Chinook

(b) Santa Anna

(c) Mistral

(d) Sirocco

List II

(1) Warm dry winds in Southern
California

(2) Warm dry winds moving down
the east slopes of Rockies

(3) Warm dry winds of Sahara
desert

(4) Katabatic winds

Codes :

(a) (b) (c) (d)

(A) (2) (1) (4) (3)

(B) (3) (4) (1) (2)

(C) (4) (3) (2) (1)

(D) (1) (2) (3) (4)

12. Which one of the following is not
true about the Coriolis force ?

(A) Coriolis force is proportional to
wind speed

(B) It is maximum over the polar
regions

(C) It is the effect of earth’s
rotation

(D) It is directly related to frictional
force

11. lwph I o lwph II ;kaP;k tksMÓk tqˇorkuk
[kkyhy fnysY;k fodYike/kwu ;ksX; i;kZ;
fuoMk %

lwph I

(a) fpuwd

(b) lkUrk vkuk

(c) feLV™y

(d) fljksdks

lwph II

(1) nf{k.k dWyhQksfuZ;k e/ks ogk.kkjs xje o
'kq"d okjs

(2) jkWdh ioZrkR;k iwoZ mrkjkdMwu ogk.kkjs
xje o 'kq"d okjs

(3) lgkjk okˇoaVkrhy xje o 'kq"d okjs

(4) vojksgh okjk

ladsrkad %

(a) (b) (c) (d)

(A) (2) (1) (4) (3)

(B) (3) (4) (1) (2)

(C) (4) (3) (2) (1)

(D) (1) (2) (3) (4)

12. dksfjvkWyhl cykP;k lanHkkZr [kkyhyiSdh
dks.krs fo/kku pwdhps vkgs \

(A) dksfjvkWyhl cy okÚ;kP;k xrhP;k
leizek.kkar cnyrs

(B) dksfjvkWyhl cy /k`okoj lokZr tkLr
vlrs

(C) rs i`FohP;k ifjoyukpk ifj.kke vkgs

(D) rs ?k"kZ.k cykP;k leizek.kkar cnyrs
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13. On the day of winter solistice the

area north of Arctic circle

experiences ............................. hours of

darkness.

(A) 12

(B) 24

(C) zero

(D) 06

14. Match List I with List II and select

the correct answer from the codes

given below :

List I

(Surface)

(a) Fresh snow

(b) Water body (Sun near horizon)

(c) Old snow

(d) Water body (Sun near the

zenith)

List II

(Albedo Percentage)

(1) 3—5

(2) 50—60

(3) 80—85

(4) 50—80

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (1) (3) (4)

(C) (3) (2) (1) (4)

(D) (3) (4) (2) (1)

13. fgokˇ;krhy v;ufnuh vkfDZVd ldZyP;k
mŸkjsdMhy {ks=koj ------------------------- rkl
va/kkj vlrks-

(A) 12

(B) 24

(C) 'kwU;

(D) 06

14. lwph I o lwph II ;kaP;k tksMÓk tqˇorkuk
[kkyhy fnysY;k ladsrkadke/kwu ;ksX; i;kZ;
fuoMk %

lwph I

(Hkwi`"B)

(a) rkts fge

(b) tylkBk (lw;Z f{krhtkoj vlrkuk)

(c) twuk fge

(d) tylkBk (lw;Z [ke/;koj vlrkuk)

lwph II

(ijkofrZr mtkZ %)

(1) 3—5

(2) 50—60

(3) 80—85

(4) 50—80

ladsrkad %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (1) (3) (4)

(C) (3) (2) (1) (4)

(D) (3) (4) (2) (1)
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15. Surface divergence results in :

(A) Ascending air

(B) Subsidence

(C) Cloud formation

(D) Precipitation

16. The so-called warm rain process is

caused by which of the following ?

(A) Collision-Coalescence

(B) Condensation sublimation

(C) Collision efficiency

(D) Coalescence efficiency

17. Ocean currents are caused by ..... .

(A) Salinity difference

(B) Temperature difference

(C) Winds

(D) Tides

18. Spring tide is experienced ..................

in a month.

(A) Once

(B) Twice

(C) Thrice

(D) Four times

19. Slow subsidence theory for the

formation of atolls was proposed

by ............................. .

(A) Darwin

(B) Murray

(C) Daly

(D) Davis

15. i`"Bh; vilj.kkeqˇs [kkyhyiSdh dk;
?kMrs \

(A) m/oZxkeh gok

(B) gosps voryu

(C) <xkaph fufeZrh

(D) o`"Vh

16. rFkkdfFkr m".k itZU; izfÿ;k gs [kkyhyiSdh
dks.kkeq š gksrs \

(A) la?kkr&laehyu

(B) lkaÊhHkou laIyou

(C) la?kkr dk;Z{kerk

(D) laehyu dk;Z{kerk

17.
-------------------------------- eq š lkxjh izokg r;kj
gksrkr-

(A) {kkjrsrhy rQkor

(B) rkiekukrhy rQkor

(C) okjs

(D) Hkjrh vksgksVh

18. m/kkukph Hkjrh efgU;kr --------------------------

;srs-

(A) ,dnk

(B) nksunk

(C) rhunk

(D) pkj oš k

19. dad.kkœrh izokˇkaP;k fufeZrh laca/khpk
ean fueTtu flºkar ------------------------ ;kauh
ekaMyk-

(A) MkfoZu

(B) ejs

(C) MWyh

(D) MsOghl
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20. Estuary is a .......................... on the

coast.

(A) Sea cliff

(B) Sea cave

(C) Tidal inlet

(D) River mouth

21. Domestication of animals was started

in :

(A) Paleolithic period

(B) Mesolithic period

(C) Neolithic period

(D) Pre-paleolithic period

22. Which one of the following pair is

not correctly matched ?

(A) Autotrophs : Take energy

from inorganic

sources and fix

it into energy

rich organic

compound

(B) Heterotrophs : Obtain their

energy from

living organisms

(C) Omnivores : Organism that

consume plants

and animals

(D) Detrivores : Obtain their

energy from

dead organisms

20. [kkMh gs fdukÚ;kojhy ---------------------------

vkgs-

(A) leqÊdMk

(B) lkxjh xqgk

(C) Hkjrh ekxZ

(D) unheq[k

21. izk.;kaps x`glao/kZu --------------------------- e/ks lq:

>kys-

(A) iWfyvksfyfFkd dky[kaM

(B) eslksfyfFkd dky[kaM

(C) fuvksfyfFkd dky[kaM

(D) iwoZ&iWfyvksfyfFkd dky[kaM

22. iq<hyiSdh dks.krh tksMh ;ksX; fjR;k tqˇr

ukgh \

(A) Lo;aiks"kh µ vtSfod Úksrkrwu mtkZ

?ksrkr o mtsZus le`º

tSfod la;qxkr fLFkj

djrkr

(B) ijiks"kh µ lthokr wu mtk Z

feˇforkr

(C) feJgkjh µ ouLirh o izk.;kaps

Hk{k.k dj.kkjs tho

(D) xkˇiks"kh µ e`r thokrwu mtkZ

?ks.kkjs
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23. A succession which is controlled and

motivated by man for his own

welfare is known as :

(A) Autogenic succession

(B) Induced succession

(C) Allogenic succession

(D) Secondary succession

24. Who amongst the following is known

for laying the foundations of

historical geography ?

(A) Ibn-Khaldun

(B) Al-Muqaddasi

(C) Al-Idrisi

(D) Ibn-Batuta

25. “There are no necessities but every-

where possibilities.” This statement

is made by ............................ .

(A) Carl-O-Sauer

(B) Yi-Fu-Tuan

(C) Lucien Febvre

(D) Fredrich Ratzel

23. ekuokus Lor%P;k mRd"kkZlkBh izksRlkfgr o

fu;a=.k dsysys vuqÿe.k Eg.kts \

(A) Lor%fufeZr vuqÿe.k

(B) izyksfHkr vuqÿe.k

(C) vU;=tkr vuqÿe.k

(D) f}rh;d vuqÿe.k

24. [kkyhyiSdh dks.kh ,sfrgkfld Hkwxksykpk ik;k

jpyk vkgs \

(A) bCu&[kkYnwu

(B) vy&ewdn~lh

(C) vy&bfÊlh

(D) bCu&crqrk

25. ^^frFks vko';drk ukghr i.k loZ= 'kD;rk

vkgsr-** gs fo/kku dks.kkps vkgs \

(A) dkyZ&vks&lkW;j

(B) ;h&Qq&rqvku

(C) Y;qfl;u QscOgjs

(D) ›sM~fjd jWV>y
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26. 1950P;k n'kdkr Hkwxksykr izkeq[;kus dsaÊhHkwr

vl.kkjk fo"k; %

(A) LFkkfudhdj.k flºkar] lkaf[;dh iºrhpk

mi;ksx o izk:i

(B) ekuoh ikfjfLFkfrdh

(C) lkekftd Hkwxksykps iSyw

(D) vuqHkotU; fpfdRlk

27. bfrgkl] laLœrh] thouiºrh o O;olk; ;koj

izkeq[;kus gokekukpk izHkko vlrks] v';k

fopkjkaps iqjLdrsZ dks.k \

(A) th- Vsyj

(B) ,Q- jWV>sy

(C) bZ- lsEiy

(D) bZ- gafVaxVu

28. i`FohP;k i `"BHkkxkph {k s f=; fHkUursl
------------------------- vlsgh vksˇ[kys tkrs-

(A) vfHk{ksf=; fo'ys"k.k

(B) HkkSxksfyd foLrkj'kkL=

(C) {ks=o.kZuh Hkwxksy

(D) dkyÿe'kkL=

26. The geography of 1950’s mainly

focussed on :

(A) Location theory, use of

quantitative methods and

models

(B) Human Ecology

(C) Aspects of Social Geography

(D) Empirical enquiry

27. Who advocated climate as the main

determinant of history, culture life-

style and occupations ?

(A) G. Taylor

(B) F. Ratzel

(C) E. Semple

(D) E. Huntington

28. Aerial differentiation of the earth’s

surface is also known as :

(A) Spatial analysis

(B) Chorology

(C) Chorography

(D) Chronology
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29. Geography as the study of “Spatial

organisation” was propagated by :

(A) Brian Berry

(B) Peter Haggett

(C) David Shaefer

(D) William Bunge

30. “The study of historical materialism

and production of space as a

reflection of social formation” is

known as :

(A) Social geography

(B) Radical geography

(C) Communism

(D) Rural development

31. Mobility pattern in a region is

best studied through the analysis

of .............................. .

(A) Density

(B) Death rate

(C) Migration

(D) Birth rate

29. Hkwxksy Eg.kts ^^vfHk{ksf=; la?kVukpk vH;kl**

;kpk iqjLdkj ---------------------------- ;kus dsyk-

(A) cz;ku csjh

(B) ihVj gxsV

(C) MsOghM 'ksQj

(D) foY;e cUx

30. ^^,sfrgkfld tMokn o vfHk{ks= fufeZrh

;kapk vH;kl Eg.ktsp lkekftd fuekZ.kkps

izfrfcac** ;kl Eg.krkr %

(A) lkekftd Hkwxksy

(B) mUewyd Hkwxksy

(C) dE;qfu>e

(D) xzkeh.k fodkl

31. ,s[kknÓk izns'kkrhy xrhekursP;k vkœrhca/kpk

vH;kl [kkyhyiSdh ---------------------- P;k

fo'ys"k.kkr dj.ks ;ksX; gksbZy-

(A) ?kurk

(B) èR;qnj

(C) LFkykarj

(D) tUenj
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32. A rapid growth of population will

take place in a country with high

number of ................................. .

(A) Female

(B) Reproductive Youth

(C) Children

(D) Male

33. Toda Tribe is associated with

............................. activity.

(A) Shifting cultivation

(B) Terraced cultivation

(C) Pastoral

(D) Food gathering

34. Transhumance refers to :

(A) Daily commuting for work

(B) Seasonal movement in hilly

region in search of green

pasture

(C) Seasonal movement of

agricultural labour

(D) Refugee migration

32.
------------------------------- ps izek.k tkLr

vlY;keqˇs ,[kknÓk ns'kkrhy yksdla[;sph

tynxrhus ok< gksrs-

(A) L=h

(B) iztuu{ke ;qod

(C) eqys

(D) iq:"k

33. rksMk tekr gh ---------------------------- izÿh;s'kh

fuxMhr vkgs-

(A) LFkykarjhr 'ksrh

(B) ik;Ú;kik;Ú;kaph 'ksrh

(C) i'kwikyu

(D) vUu ladyu

34. V™kUlgÓweUl Eg.kts ---------------------------- -

(A) dkeklkBh nSuafnu izokl dj.ks

(B) gjhrdqj.kkaP;k 'kks/kkr MksaxjkˇHkkxkr

vk<ˇ.kkjs Ωrqekuh LFkykarj

(C) 'ksretwjkaps Ωrwekuh LFkykarj

(D) fuokZflrkaps LFkykarj
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35. Favela is ............................... an

informal, Shanty-type settlement.

(A) Brazil

(B) Mexico

(C) S. Africa

(D) Italy

36. Brownfield land in urban area

is ................................ .

(A) Site of a demolished building or

factory

(B) Site of urban agricultural

pockets

(C) Site of slum area

(D) Site of decayed urban area

37. Which one of the following does

not relate to “law of the primate

city” ?

(A) a leading city is

disproportionately larger than

any others

(B) an expression of the national

identity

(C) propounded by Jefferson

(D) late stage of economic

development

35. QWosyk gh vla?kVhr >ksiMiV~Vh Lo:ikph oLrh
---------------------------- e/;s vk<ˇrs-

(A) czkf>ˇ

(B) esfDldks

(C) n- vkf›dk

(D) bVkˇh

36. ukxjh{k s=krhy c z k≈ufQYM y°M

Eg.kts --------------------------------- -

(A) ikMysY;k bekjr fdaok dkj[kkU;kps

LFkku

(B) ukxjh œ"kh dII;kps LFkku

(C) >ksiMiV~Vhps LFkku

(D) fo?kVhr ukxjh{ks=kps LFkku

37. [kkyhyiSdh dks.krs fo/kku ^^ykW vkWQ izk;esV

flVh** 'kh laca/khr ukgh \

(A) brj 'kgjkais{kk izek.kckgÓ ok<ysys vxzslj

'kgj

(B) jk"V™h; vfLersph vfHkO;Drh

(C) tsQjlus ekaMyk

(D) vkfFkZd fodklkrhy m'khjkpk VIik
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38. Which one of the following pairs is

not matched correctly ?

(A) A.E. Smailes—Concept of

Townscape

(B) Griffin and Preston—Transition

zone concept

(C) Horwood and Boyce—Core-

frame concept

(D) A.E. Smalles—Graphic

expression of urban field

39. Who amongst the following has

divided the world into major

agricultural regions ?

(A) Stamp

(B) Whittlesey

(C) Barker

(D) Weaver

40. What is the controlling factor for the

growth of the plantation agriculture

in the tropics ?

(A) Soil

(B) Labour

(C) Irrigation

(D) Climate

38. [kkyhyiSdh dks.kR;k tksMhph tqˇo.kh ;ksX;

ukgh \

(A) ,-b- LesYl µ Vk≈uLdsi ladYiuk

(B) fxzQhu o fizLVkWu µ V™kfU>'ku >ksu

ladYiuk

(C) gkjowM vkf.k ckWbl  µ dksvj›se

ladYiuk

(D) ,-bZ- LesYl  µ xzkQhd ,Dlizs'ku vkWQ

vcZu QhYM

39. [kkyhyiSdh dks.kh txkps foHkktu izeq[k

œ"kh foHkkxkr dsys vkgs \

(A) LVWEi

(B) fOgVyls

(C) ckdZj

(D) osOgj

40. m".kdfVca/kh; izn s'kkr eˇ;kP;k 'k srh

fodklkr dks.krk fu;a=.k dj.kkjk ?kVd

vkgs \

(A) e`nk

(B) etwj

(C) flapu

(D) gokeku
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41. Fishing in inland waters is more

common in :

(A) Monsoon Asia

(B) Central Africa

(C) North America

(D) South America

42. The Industrial location theory

based on least-cost-location is

formulated by :

(A) Smith

(B) Isard

(C) Weber

(D) Fetter

43. Which one of the following resources

has reached below its sustained

yield level ?

(A) Water

(B) Temperate forests

(C) Tigers

(D) Whales

44. The major factor controlling

agricultural efficiency is :

(A) Farming practices

(B) Investment

(C) Irrigation

(D) Use of fertilizers

41. [kaMkUrxZr tyk'k;krhy eklsekjh dksBs tkLr
izpfyr vkgs \

(A) ekUlwu vf'k;k

(B) e/; vkf›dk

(C) mŸkj vesfjdk

(D) nf{k.k vesfjdk

42. fdeku [kpkZps LFkku ;koj vk/kkfjr m|ksx
LFkkfudhdj.k flºkar dks.kh ekaMyk \

(A) fLeFk

(B) b>kMZ

(C) oscj

(D) QsVj

43. [kkyhyiSdh dk s.krh ,d lk/kulaink
frP;k la/k`r mRiknukP;k ikrˇh [kkyh iksgpyh
vkgs \

(A) ty

(B) le'khrks".k ous

(C) ok?k

(D) OgsYl

44. œ"kh{kersoj fu;a=.k dj.kkjk izeq[k ?kVd
------------------------- vkgs-

(A) œ"kh fÿ;k

(B) xqaro.kqd

(C) tˇflapu

(D) [krkapk okij
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45. Efficiency of transport network

depends upon :

(A) Accessibility

(B) Connectivity

(C) Complimentarity

(D) Transferability

46. Who amongst the following used

multi-faceted technique for

demarcation of agricultural

regions ?

(A) Coppock

(B) Valkensberg

(C) Whittlesey

(D) Carol

47. “Who controls the rimland

rules Eurasia, who rules Eurasia

rules the world” is a statement

by ................................ .

(A) Mackinder

(B) Spykman

(C) Mahan

(D) Hooson

45. okgrwd tkˇÓkph {kerk ;koj voyacwu

vlrs %

(A) lqxerk

(B) la/kkurk

(C) iqjdrk

(D) vnycnydrk

46. [kkyhyiSdh dks.kh cgqvk;keh ra=kpk mi;ksx

œ"kh foHkkxkP;k js[kkVuklkBh dsyk vkgs \

(A) dksikWd

(B) okydsUlcxZ

(C) fOgVyls

(D) dWjksy

47. ^^ifjf/kHkwehoj tks fu;a=.k djsy rks ;qjsf'k;koj

jkT; djsy] tks ;qjsf'k;koj jkT; djsy rks txkoj

jkT; djsy-** gs fo/kku ---------------------- ;kauh

dsys-

(A) eWdUMj

(B) Lik;desu

(C) egku

(D) gkslksu
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48. The administrative capital of South

Africa is :

(A) Cape Town

(B) Durban

(C) Johannesburg

(D) Pretoria

49. Boundaries are :

(A) Zonal and artificial

(B) Artificial and separating

(C) Zonal, separating and movable

(D) Artificial, separating and

movable

50. Semang tribe is inhabitant of

.......................... natural region.

(A) Tundra

(B) Equatorial forest

(C) Steppe

(D) Savanna

48. nf{k.k vf›dsph iz'kkldh; jkt/kkuh

---------------------- vkgs-

(A) dsi Vk≈u

(B) njcku

(C) tksgkUlcxZ

(D) fizVksfj;k

49. lhekjs"kk -------------------------- vlrkr-

(A) {ks=h; vkf.k œf=e

(B) œf=e vkf.k foyx

(C) {ks=h;] foyx vkf.k cnyR;k

(D) œf=e] foyx vkf.k cnyR;k

50. lsekax tekr -------------------------- gÓk uSlfxZd

izns'kkr jkgrs-

(A) VqaM™k

(B) fo"kqoo`Rrh; vj.;

(C) LVsiht

(D) lOgkWuk
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51. Social evolution of tribal groups is

controlled by :

(A) Social stratification

(B) Interaction with modern culture

(C) Spread of education

(D) Intra-tribe harmony

52. Drewnowski’s approach

distinguishes between :

(A) The state of well-being and the

level of living

(B) The level of living and the

quality of life

(C) The standard of living and the

level of welfare

(D) The cost of living and the level

of living

53. A majority of people of Jerusalem

are followers of :

(A) Judaism

(B) Atheism

(C) Islam

(D) Christianity

51. tekrleqgkph lkekftd mRÿkarh -------------

us fu;a=hr dsyh tkrs-

(A) lkekftd Lrjhdj.k

(B) vk/kqfud laLœrh'kh vkarjfÿ;k

(C) f'k{k.kkpk izlkj

(D) vkarjleqg lˇks[kk

52. M~;wfuLdh vH;kliºrh ;ke/khy Qjd

lkaxrs %

(A) dY;k.kdkjh fLFkrh o jkg.khikrˇh

(B) jkg.khikrˇh o thouxq.koRrk

(C) jkg.kheku o dY;k.kikrˇh

(D) jkg.khewY; o jkg.khikrˇh

53. ts:lysee/khy cgqla[; yksd -------------------

;kps vuq;k;h vkgsr-

(A) T;qMkb>e

(B) vWFksb>e

(C) bLyke

(D) f[kz'pkfuVh
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54. Ethnocentrism is characterised

by :

(a) Discrimination

(b) Diversity

(c) Disparity

(d) Fanaticism

Select the appropriate option from

the following :

(A) (a) and (b)

(B) (b) and (c)

(C) (c) and (d)

(D) (a) and (d)

55. Assertion (A) : Haryana is a

leading producer

of cars.

Reason (R) : The state has a

rich resource base.

Select the correct alternative using

the codes below :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

54. oa'kds aÊh;rsph oSf'k"VÓs [kkyhyizek.k s
vkgsr %

(a) HksnHkko

(b) fofo/krk

(c) fo"kerk

(d) /keZosMsi.kk

[kkyhyiSdh ;ksX; i;kZ; fuoMk %

(A) (a) o (b)

(B) (b) o (c)

(C) (c) o (d)

(D) (a) o (d)

55. fo/kku (A) : eksVkj mRiknukr gjh;k.kk
vxzslj vkgs-

dkj.k (R) : jkT;kr ia zpM lk/kulaink
vkgs-

[kkyhy fnysY;k ladsr'kCnke/kwu ;ksX;
fodYi fuoMk %

ladsr %

(A) (A) o (R) nksUgh cjkscj vkgsr vkf.k
(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq
(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd
vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj
vkgs
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56. What is the BEST description of

Kashmir valley ?

(A) Economic region

(B) Planning region

(C) Cultural region

(D) Political region

57. Which one of the following factors

is responsible for poor development

of northern Gujarat ?

(A) Physical

(B) Economical

(C) Cultural

(D) Administrative

58. Match the regions in List I with

their type in List II and select the

correct answer using the codes given

below :

List I

(a) Regur zone

(b) Mumbai Metropolitan Region

(c) Radhanagari

(d) Jharkhand

List II

(1) Formal

(2) Resource

(3) Planning

(4) Administrative

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (1) (3) (4) (2)

(C) (1) (3) (2) (4)

(D) (4) (3) (2) (1)

56. dkf'ej [kk sÚ;kps ;Fkk;ksX; o.kZu dk;
vkgs \

(A) vkfFkZd izns'k

(B) fu;kstu izns'k

(C) lkaLœfrd izns'k

(D) jktdh; izns'k

57. mŸkj xqtjkFkP;k deh fodklkyk [kkyhyiSdh
dks.krk ,d ?kVd dkj.khHkwr vkgs \

(A) izkœfrd

(B) vkfFkZd

(C) lkaLœfrd

(D) iz'kkldh;

58. ;knh I e/khy izns'kkph ;knh II e/;s fnysY;k
R;k aP;k izdkjkph tqˇo.kh djk vkf.k
[kkyhyiSdh ;ksX; i;kZ; fuoMk %

;knh I

(a) jsxwj izns'k

(b) eqacbZ egkuxj izns'k

(c) jk/kkuxjh

(d) >kj[kaM

;knh II

(1) vkdkfjd

(2) lk/kulaink

(3) fu;kstu

(4) iz'kkldh;

i;kZ; %
(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (1) (3) (4) (2)

(C) (1) (3) (2) (4)

(D) (4) (3) (2) (1)
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59. Select the odd member from the

following items :

(A) Port

(B) Organization

(C) Ford

(D) Node

60. Who developed a methodology for

the study of human communities

based on ‘Place-Work-Folk’

progression ?

(A) T.H. Huxley

(B) Patrick Geddes

(C) H.R. Mill

(D) Vidal de la Blache

61. Attaining development without

causing damage to the environment

is called :

(A) Regional development

(B) Area development

(C) Sustainable development

(D) Social development

59. [kkyhyiSdh fo"ke ?kVd fuoMk %

(A) canj

(B) la?kVu

(C) mrkjfcanw

(D) dsaÊfcanw

60. ^^LFkku&dk;Z&yksd Js.khP;k** vk/kkjs ekuoh

lektkaP;k vH;klklkBh vH;kliºrh dks.kh

fodflr dsyh \

(A) Vh-,p- gDLys

(B) iWV™hd xsMhl

(C) ,p-vkj- fey

(D) fonky fn yk Cyk'k

61. i;kZoj.kkyk gkuh u ikspork fodkl lk/k.ks

Eg.kts ------------------------- -

(A) izknsf'kd fodkl

(B) {ks=h; fodkl

(C) fpjaru fodkl

(D) lkekftd fodkl
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62. Following List I lists some of the

peaks from peninsular India and

List II includes the names of ranges.

Which of the following matches is

correct ?

List I

(a) Nallamala

(b) Malaygiri

(c) Anaimudi

(d) Kemmangudi

List II

(1) Southern-Western Ghats

(2) Central Western Ghats

(3) Orissa Eastern Ghats

(4) Andhra Eastern Ghats

Codes :

(a) (b) (c) (d)

(A) (4) (3) (1) (2)

(B) (1) (2) (3) (4)

(C) (4) (1) (3) (2)

(D) (1) (3) (4) (2)

62. [kkyhy ;knh I vkf.k ;knh II ;k vuqÿes

Hkkjrh; }hidYikr vk<ˇ.kkjh f'k[kj s

o ioZrjkaxkaph ukos n'kZforkr- R;k[kkyh

fnysY;k tksMÓkaiSdh dks.krh tksMh cjkscj vkgs

rs vkš [kk %

;knh I

(a) uYyekyk

(b) ey;fxjh

(c) vuSeqMh

(d) dsEeuxqMh

;knh II

(1) nf{k.k&if'pe ?kkV

(2) e/;&if'pe ?kkV

(3) vksfjlk iwoZ ?kkV

(4) vka/kz iwoZ ?kkV

ladsrkad %

(a) (b) (c) (d)

(A) (4) (3) (1) (2)

(B) (1) (2) (3) (4)

(C) (4) (1) (3) (2)

(D) (1) (3) (4) (2)
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63. The following tables list some

of the major tribes and the states

of India :

List I

(Tribes)

(a) Santhal

(b) Toda

(c) Bhil

(d) Garo

List II

(1) Karnataka

(2) Meghalaya

(3) Orissa

(4) Dadra and Nagar Haveli

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (3) (1) (4) (2)

(C) (4) (1) (3) (2)

(D) (3) (2) (4) (1)

63. Hkkjrkrhy dkagh izeq[k vkfnoklh tekrh

o dkagh jkT;s [kkyhy rDR;kr fnysyh

vkgsr- R;kaP;k fofo/k tksMÓkarwu cjkscj tksMh

'kks/kk %

;knh I

(vkfnoklh tekr)

(a) laFkkˇ

(b) rksMk

(c) fHkYy

(d) xkjks

;knh II

(jkT;)

(1) dukZVd

(2) es?kky;

(3) vksfjlk

(4) nknjk vkf.k uxj gosyh

tksMÓkaps i;kZ; %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (3) (1) (4) (2)

(C) (4) (1) (3) (2)

(D) (3) (2) (4) (1)
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64. Assertion (A) : The failure of

S o u t h - W e s t

Monsoon in

India leads to the

lowering of

a g r i c u l t u r a l

produce.

Reason (R) : Whenever El-

Nino occurs, it

adversely affects

Monsoon.

Which one of the following is

correct  ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

64. fo/kku (A) : HkkjrkP;k uSΩR; ekUlwuP;k

vi;'kkpk ifj.k ke

'ksrhekykP;k mRiknukr ?kV

gks.;ke/;s gksrks-

dkj.k (R) : ts a Ogk t s a Ogk ,y&fuuk s

vfLrRokr ;srks] rsaOgk rsaOgk

R;kpk eksleh okÚ;koj foijhr

ifj.kke gksrks-

[kkyhyiSdh dks.krk i;kZ; ;ksX; vkgs \

(A) (A) o (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj

vkgs
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65. The increasing change in symbiotic

relationship between the tribals and

hilly forested areas in India is a

result of ............................... .

(A) Government Policy to bring the

tribals in the main-stream,

socially

(B) Increasing educational

opportunities

(C) Their attraction and migration

towards urban centres

(D) Reservation policies

66. Which one of the following

manufacturing activities get

agglomerated with sugar factory ?

(a) Furniture

(b) Eco-board

(c) Alcohol

(d) Confectionary

Select the appropriate option from

the following :

(A) (a), (b) and (c)

(B) (b), (c) and (d)

(C) (c), (d) and (a)

(D) (d), (a) and (b)

65. Hkkjrkrhy vkfnoklh tekrh vkf.k oukPNkfnr

Mksaxjkˇ izns'k ;ke/khy lgthoukr gks.kkjk

ok<rk cny gk ----------------------- ;kpk ifj.kke

vkgs-

(A) vkfnoklhauk lektkP;k eq[; izokgkr

vk.k.;kps ljdkjps /kksj.k

(B) ok<rh 'kS{kf.kd la/kh

(C) R;kaps ukxjh dsaÊkdMhy vkd"kZ.k o

R;kdMs gks.kkjs LFkykarj

(D) vkj{k.k /kksj.ks

66. [kkyhyiSdh dk s.kR;k m|k sxk ap s lk[kj

dkj[kkU;kHkksorh lewgu gksrs \

(a) QuhZpj

(b) bdkscksMZ

(c) vYdksgksy

(d) dUQsD'kujh

[kkyhyiSdh ;ksX; i;kZ; 'kks/kk %

(A) (a), (b) vkf.k (c)

(B) (b), (c) vkf.k (d)

(C) (c), (d) vkf.k (a)

(D) (d), (a) vkf.k (b)
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67. ................................. is the leading

producer of common salt in India.

(A) Gujarat

(B) Tamil Nadu

(C) Karnataka

(D) Andhra Pradesh

68. Plateau area in Tamil Nadu

predominently has tank irrigation,

because ............................ .

(A) It receives very low rainfall

(B) Rock formations in the region

do not permit much percolation

(C) There are no big dams and

canal systems

(D) Construction of tanks is more

economical

69. Single purpose maps portray

information related only to the theme

of the map in a .......................... way.

(A) generalised

(B) simplified

(C) superimposed

(D) summarised

67.
------------------------------- gs Hkkjrkrhy vxzslj ehB

mRiknd jkT; gks;-

(A) xqtjkFk

(B) rkfeˇukMw

(C) dukZVd

(D) vka/kzizns'k

68. rkfeˇukMw jkT;krhy iBkjh izns'kkr r š flapu

izkeq[;kus vk<ˇrs] dkj.k ------------------- -

(A) frFks ikolkps izek.k vYi vkgs

(B) R;k izns'kkrhy [kMd tykps var%lzo.k

gks≈ nsr ukghr

(C) rsFks eksBh /kj.ks o flapu izdYi ukghr

(D) rˇÓkaph cka/k.kh deh [kpkZph Bjrs

69. ,dksÌs'kh; udk'ks dsoˇ fo"k;fu"B ekfgrh

------------------------ iºrhus n'kZforkr-

(A) lkekU;

(B) lksI;k

(C) izR;kjksi.k

(D) lkjka'k
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70. In the process of creating new

overlays co-registered with the

basemap in GIS analysis, the base-

map always remains at the

...................... level.

(A) middle

(B) top

(C) bottom

(D) intermediate

71. A stereo-pair attains the property of

stereo-vision on account of the

............................ in the pair.

(A) elevated area

(B) background area

(C) exclusive area

(D) overlap area

72. A condition of “mean > median >

mode” in a frequency distribution

indicates that it is a ........................

distribution.

(A) Positively skewed

(B) Laptokurtic

(C) Negatively skewed

(D) Platykurtic

70. GIS fo'ys"k.kkr uohu vf/kfp=kaP;k lguksan.kh

izfÿ;sr ew̌  udk'kk usgehp ------------------

ikrˇhoj jkgrks-

(A) e/;

(B) lokZr ojP;k

(C) [kkyP;k

(D) v/kY;k e/kY;k

71. f=ferh; tksMhrhy -------------------------- eqˇs

f=ferh; n`';ekurspk xq.k/keZ izkIr gksrks-

(A) mPp{ks=k

(B) ik'oZ{ks=k

(C) oftZr{ks=k

(D) ijLijO;kih{ks=k

72. ,[kk|k okjaokjrk forj.kkr ^^ljkljh >

e/;xk > cgqyd** v'kh fLFkrh rs forj.k

vlY;kps lwfpr djrs-

(A) ?kudyh;

(B) vfrf'k[kjekuh;

(C) Ω.kdyh;

(D) lery f'k[kjekuh;
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73. Standard error of mean is also the

standard deviation of a :

(A) Distribution of the observed

values

(B) Sampling distribution

(C) Distribution of the expected

values

(D) Distribution of the estimated

values

74. If the two regression lines “X on Y”

and “Y on X” intersect each other

at right angle, the two variables will

have ................................... .

(A) High negative correlation

(B) High positive correlation

(C) Zero correlation

(D) Moderate correlation

75. Leptokurtic distribution will

have ............................... .

(A) Very low value of mean

(B) Very low value of coefficient of

variation

(C) High value of variance

(D) High value of std. deviation

73. ljkljhph izekf.kr =qfV gh -----------------------

forj.kkps izekf.kr fopyu lqºk vlrs-

(A) fujh{k.k ewY;

(B) izfrp;u

(C) visf{kr ewY;

(D) vankftr ewY;

74. ^^X ps Y ojhy** vkf.k ^^Y ps X ojhy**

;k lekJ;.k js"kk tj ,desdhl dkVdksukr

Nsnr vlrhy] rj R;k nksu pykae/khy

lglaca/k lgxq.kkad --------------------------

vlsy-

(A) mPp Ω.kkRed

(B) mPp /kukRed

(C) 'kwU;

(D) e/;e

75. vfrf'k[kjekuh; forj.kkr ----------------------

vlsy-

(A) ljkljh ewY; vfr deh

(B) cnykP;k lgxq.kkadkps ewY; vfrdeh

(C) izpj.kkps ewY; vf/kd

(D) izekf.kr fopyukps ewY; vf/kd
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